Lennay Dining Table U R B AN
Table Lennay BARN

Assembly Instructions / Instructions d’assemblage

Parts and Fitting Packaging Detail
Piéces et accessoires inclus dans I'emballage

ATable Top / Dessus de table X1 B.Table Leg / Patte de table X2

@) (B)

Py
E]
—
C. Stretcher / Barre transversale X1 D. Suppor Bar / Barre de soutien X2

(D)

Hardware List / Liste de la quincaillerie

No Description Image Qty/Qté
1 |Allen Bolt / Boulon Allen (M8X60) x12

2 Spring washer / Rondelle (M8) @ x14

3 Flat washer / Rondelle plate (M8) x14

4 Allen Bolt / Boulon Allen (M8X40) X2

5 Key wrench / Clé =ﬂ x1




URBAN
BARN

=
o)
<
T
z
>
ola
:
Q
=
= =
S Q9
QL <
—

0
%

// ///// \\D “‘ ___/
N\ 7\
) )

\w/\%

7

N

Assembly Instructions / Instructions d’assemblage




Lennay Dining Table
Table Lennay UBRABIQA]qN

Assembly Instructions / Instructions d'assemblage

Assembly Complete
Assemblage complété

\




	Page 1
	Page 2
	Page 3

